GEARBOX FOR INTERMITTENT USE - WINKELGETRIEB FUR KURZEITBETRIEB

———en
— y

- 4 R :
| | “aﬂjh‘ E
g :;;iii g‘

« Available transmission ratios: 1:1 - 1:2 (standard) - 2:1 (available in versions «A» - «<B» - <C»); (Tab. 3).
« Ratios 1/2 and 2/1 are only available with spiral gears.

e Aluminium case, anodised; stainless steel shafts (standard).

» Torque 45 Nm. Radial load 75 kg - axial load 7,5 kg (Tab. 4).

* Models (Tab. 1):

- Version <Ay with 2 outputs; weight 330 g.

- Version «By with 3 outputs; weight 520 g.

- Version «C» (opposite rotation) with 3 ouputs; weight 535 g.

- Version «D» with 3 outputs, 2 through hollow shafts; weight 520 g.
« Standard output shafts: M = male @14 / F = female @14 (Tab. 9).
Available on request:

= Case in stainless steel AISI 303.

= Models with spiral bevel gears are available in all versions with transmission ratio 1/1 (Tab. 2).

« Lieferbare Ubersetzungen: 1:1 - 1:2 (standard) - 2:1 (Lieferbar in Ausfiihrungen <A» - <By - <C»); (Tab. 3).
« Ubersetzungen 1/2 und 2/1 nur mit Spiralkegelréder lieferbar.

* Druckgussgehduse, schwarz eloxiert; Wellen aus Edelstahl AlSI 303.

e Drehmoment 45 NM. Radiallast 75 kg - Axiallast 7,5 kg (Tab. 4).

* Ausfiihrungen (Tab. 1):

- Version <Ay mit 2 Ausgangswellen, Gewicht 330 g.

- Version «By mit 3 Ausgangswellen, Gewicht 520 g.

- Version <€ mit 3 Ausgangswellen mit Riickwdrtsdrehung, Gewicht 535 g.

- Version «D» mit 3 Ausgangswellen, 2 durchgehende Hohlwellen, Gewicht 520 g.
« Standard output shafts: M = male @14 / F = female @14 (Tab. 9).

Lieferbar auf Anfrage:

* Gehduse in Edelstahl AlSI 303.

= Ausfiihrungen mit Spiralkegelréder fiir Ubersetzung 1/1 (Tab. 2).

60

66/6

FIAMA

—ince 19138



CONFIGURATION AND DIRECTION OF ROTATION - KONFIGURATION UND UMDREHUNGSSINN

Tab. 1

<Ay «B» «C» «D»
R 3
L
=
1 1 1 1
The direction of rotation depends from the configuration and from the positioning; see “Versions with dimension drawings”.
Die Drehrichtung héngt von der Konfiguration und von der Positionierung ab; sehe "Ausfiihrungen mit Abmessungen".
REPRESENTATION OF BEVEL GEARS - DARSTELLUNG VON KEGELRADER ‘ Tab. 2

Straight bevel gears - Gerade Kegelrdder

Spiral bevel gears - Spiralkegelrdider

Moderate loads and speeds - Mittlere Lasten und Geschwindigkeiten

Loads + 30% and high speeds - + 30 % Lasten und hohe Geschwindigkeiten

REPRESENTATION OF TRANSMISSION RATIOS - DARSTELLUNG DER UBERSETZUNGSVERHALTNISSE

‘ Tab. 3

Example - Beispiel: ratio - Ubersetzung 1:2
SHAFT - WELLE <1> = 10 RPM
SHAFT - WELLE <2>= 5RPM

Example - Beispiel: ratio - Ubersetzung *2:1
SHAFT - WELLE <> = 5 RPM

SHAFT - WELLE <2> = 10 RPM

*not available in version D) nicht lieferbar in Version D)

] -

M

ui-tﬂ'-rw- - P

e <l

' . e
=% 2_£ ==
- 2

&)

1

The ratio depends on shaft <1> shown opposite the fixing bores M_ - Das Verhdltnis hdngt von der Welle 1 gegeniiber den Befestigungsbohrungen M_ ab.

REPRESENTATION OF DESIGN CONFIGURATION

- DARSTELLUNG DER KONSTRUKTIVEN FORM

‘ Tab. 4

|

|l

The design depends on shaft <1> opposite the fixing bores M_; others shafts follow clockwise (see "Part nr. configuration").
Durch Welle 1> bestimmt, die gegeniiber der Befestigungsbohrungen M_ liegt. Die anderen folgen den Uhrzeigersinn (siehe'Bestellmuster’).

REPRESENTATION OF LOADS - DARSTELLUNG VON LASTEN Tab. 5
<B» ‘ Fr=max 750 N <D Fr=max 750 N
o =
o\{; ' FA=max 75N FA=max75N
45 Nm

T=45Nm

.o
||

Note: a radial load (ex. belt tension) can only be applied to the long shaft of the <B» and <D» versions; otherwise, a support must be provided.
Hinweis: radiale Belastung (z. B. Riemenspannung) ist nur auf die lange Welle «B» und «D» erlaubt; andernfalls ist eine Abstiitzung nétig.

61




62

22

VERSIONS WITH DIMENSION DRAWINGS - AUSFUHRUNGEN MIT ABMESSUNGEN

AVAILABLE OUTPUT SHAFTS - LIEFERBARE AUSGANGSWELLEN

5
| | 205
RSN Ea.%
J = 3
= Q
,_#/. LL
\‘\6 J 14H8 . 10
- 1
e ] .
& AR | a |
N 3 | <+ 8
~ __}/ H | 3
o
! ! 30,5
16,2,
@14
= $ ot
Q./ / T 28
IS
L
154 83
solo per la versione “D”- only for version “D”
VERSION - AUSFUHRUNG <A» M-F
22 | 22
»’—-4—&
® 9
~ =
7N =
ﬁ %y Fd
©
M5X11 10,5 i
28 52 30,5
Il 10
_,—Q ] [ [w, +8
o) ~ | Fhals
i F14 © o NS
&' g ‘_f | 8 Q&
5 - e 2
=l e
T §N°2 M5 A 120° T
22 | 22 14h
44 240,605 |
M5X11
g
1010 '
g
C © 1]
VERSION - AUSFUHRUNG <BY» M-M-M
22 22 }
)
Q A
g r‘z- f /fﬁ\\ —‘21
O ©)
143
30 0.5 82 05 30
r = 2
1 3) T §
mL \%J " —1
] \ 2| =z
=° 2 2 I ose
N e = &l g
T Q
m :
2 | 22 _@14h8
44 5X11 @40 505
\
§
I
er
C © )

VERSION - AUSFUHRUNG <A M-M

22

22

22

22

Tab. 9

2 22
[
)
~ =
©)
M5X11 1105 ‘
28 52,5 30 |
{a/__ © © .
> \ N © cgl*
//’ af &
D) ) g 3)
- 2
—-~
i Yy
[ g [ )
1
22hnzel @14h8
56 -
@407 805
MsX11—— T | | i
e ——
<
N
G ©
VERSION - AUSFUHRUNG AY» F-F
22 22
182,
P
a ___—l-'\
©| vyt R
Qe e |
~ 4 F
N |
— ©
I
. . © 1105
3 | } © g
N 4 =Y
3 =abib)
=1 =919
@ 14 I
| o
n * Te]
= =
[sel I ‘9‘ (5ol
M5X11 214H8 *
22 | 22
1010 ;7
<
* oN
o 1 J
I
VERSION - AUSFUHRUNG ¢<B)» F-M-M
422 22
162
I —
o~ (e
) =
~ L —
N |
| °2 M5 A 120°
1a3 NZM5A120
30 30
0.5 8 0.5
NT»{) - © @
72N i
7R\ S
S &
N
@ & g" S @
= 2| v =3 8
= 2 2 o3
™) aﬂ e g o)
<
¥ Q
[{o} wn
=) =
[se} | e‘ [sp)
f
@22 |@14H8
@22
22 | 22 MSX11 T
56 b
1010} [
3
G J




VERSION - AUSFUHRUNG {C» M-M-M 0PPOSITE ROTATION - GEGENLAUFIG

2, 22,
b
N o
©
M5X11 165
L 30 105 104 05 30 _
e @ -
/,_\ Q
N 1 S
%’4} — =, 73
i q Ly
2|8 2 2 2|
— - e 37
sl ¢
= S
| o
| ]
22 | 22 |@14Hs
44 M5X11 $@1

10/10]

<

N
;f

N

©

VERSION - AUSFUHRUNG C» F-M-M OPPOSITE ROTATION - GEGENLAUFIG

VERSION - AUSFUHRUNG <D» M-F-F THROUGH-HOLLOW SHAFT - DURCHGEHEND

22
=
A

22 22,
16‘,2
&=
~ P
Crat | ¥ \/ | —
Gl I
= O
I
165
M5X11 30 05 104 05 30
[)
17N IE
~ f N
7an) — 8
A :
N 0
2l S N|s 2| s
p 2 2 SIS
| " L Y
o N
o
(2] ] M —
v
22 | 22 14H8
44 M5X11 The
T
| <
N
10,10 Eﬁi
<
N
e

1&
L7
Bas

22

2 | 22
R A
& ¢
) G
8 [y
I
©
M5X11/ 83
78 S
3
© | N
N =3
~ IS
ﬂi[ 8 g
o N
|0
2 14H8 05
= A
° Lz
[3p)
|
M5X11 @14H8
| s
1010 \
I <
| N
<

VERSION - AUSFUHRUNG <C» M-F-F OPPOSITE ROTATION - GEGENLAUFIG

22

22

2 22
16,2
o =
.
8 b [_‘"_ Ln* .'K/' _Jj
o~ _W t \v/
el I
1 D @)
!
M5X11 165
30,5 | 0,5 104 0,5 | 30,5
I
+ T
_l_ @ © ! | ! ©
i | L P
\\RP ‘_Mo ié : ]
i a O"(u\}N
SN2 Sy ) )
SOl
LI :
=
- [3p) -l -
A ]
22 |22 @14H8
44 M5X11 T
222
<
oN
1010 v
<
N
G J

VERSION - AUSFUHRUNG <C) F-F-F OPPOSITE ROTATION - GEGENLAUFIG

22

22

22

R
O]
N " i |
B 21
s Q)
I
( P i @
M5X11 ‘
‘ 165 ;
1305, 05 05 ].305
104
|
0@@ & Lo
~ N
N~ 7},‘\‘. | ‘ <Ir N
B\ © = 5,8
T 1 i
@ SRl
5 /e 2 2
—ofl 2 ‘
o
[sp]
22 | 22 @14H8
44 M5X11 922
<
N
10110 3
<
N
C < )

VERSION - AUSFUHRUNG {D» F-F-FTHROUGH-HOLLOW SHAFT - DURCHGEHEND

22 . 22,
- 16.2
| |

N © =
NGO 177§
o~ ] 3
N |
=LE)
I
M5X11 83 o
78 @
<
v [ @) -
e & = 8
i/ W TH INA Slss
\\ I Q|
--)< ©Ylw s
s =1rs uN)
5 =|*
< lﬁ
L Tl 2
° .4
% 32} - T -
22 | 22
i D 14H8 |@14H8
M5X11 @22
.
<
N
10110
<
N
C

63



rpm

50

200

400

600

800

1000

1200

1400

rpm

50

200

400

600

800

1000

1200

1400

rpm

50

200

400

600

800

1000

1200

1400

Tm dsp

58,5

41,4

34,8

31,5

29,2

28,0

26,5

25,4
Tm dsp

48,7

34,5

29,0

26,4

24,5

23,0

22,0

21,2
Tm dsp

22,0

15,5

13,0

11,9

11,0

10,5

10,2

9,7

Tm dc

45,0

31,9

26,8

24,0

22,5

21,2

20,5

19,6
Tm dc

37,5

26,5

22,3

20,5

18,8

17,8

16,9

16,3

Nm dc

16,9

11,9

10,0

9,1

8,5

8,0

7,7

7,4

EFFICIENCY DIAGRAMS AND TABLES - LEISTUNGSDIAGRAMME UND TABELLEN Tab. 10
OUTPUT TORQUE WITH RATIO 1/1 - DREHMOMENT MIT UBERSETZUNG 1/1

Efficiency - Leistung = 90%

70,0
60,0
50,0
40,0
30,0
20,0
10,0

0,0

0 200 400 600 800 1000 1200 1400 rpm

OUTPUT TORQUE WITH RATIO 1/2 - DREHMOMENT MIT UBERSETZUNG 1/2
Efficiency - Leistung = 90%
60,0
50,0
40,0
30,0
20,0
10,0

0,0
0 200 400 600 800 1000 1200 1400 Ppm

OUTPUT TORQUE WITH RATIO 2/1 - DREHMOMENT MIT UBERSETZUNG 2/1

Efficiency - Leistung = 90%

25,0

20,0

15,0

10,0

5,0

0,0
0 200 400 600 800 1000 1200 1400 rpm

- Tm = max torque in Nm - max Drehmoment in Nm

- dc = bevel gearing - Kegelradverzahnung

- dsp = spiral gearing - Spiralverzahnung

30



PART NR. CONFIGURATION - BESTELLMUSTER 66/6

SP

M@14

F@14

F@14

1/1

SPIRAL BEVEL GEARS - SPIRALKEGELRADER (® Tab. 2)

SP ratio - Ubersetz. 1/1 ratio - Ubersetz. 1/2 - 2/1

STAINLESS STEEL - EDELSTAHL

INOX

VERSION - AUSFUHRUNG (& Tab. 1)

A-B-C-D

SHAFT 1 - WELLE 1 (®Tab. 9)

M@14 - FP14 (standard)

SHAFT 2 - WELLE 2 (®Tab. 9)

M@14 - FP14 (standard)

SHAFT 3 - WELLE 3 (®Tab. 9)

M@14 - FP14 (standard)

RATIO - UBERSETZUNG

1:1-1:2 - 2:1 (@ Tab. 3)

exclusive option - keine Auswahl/

optional - auf Wunsch lieferbar

- Per la scelta del rinvio, consigliamo di consultare le tabelle e i dati tecnici riportati nelle “Informazioni generali” di questo catalogo (pag. 4 - 7)

- Per abbreviazioni e sigle consultare il «glossario» nelle “Informazioni generali” di questo catalogo (pag. 7).

- For the selection of the gearbox, we advise to consult the tables, and the technical data shown in the “General Information” of this catalog (p. 4 - 7)

- For abbreviations and acronyms consult the «glossary» in the “General Information” of this catalog (p. 7)

65





